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That he picked it up in order to- 11R¥217> 7211 Wweaxa» Ny by WA
hide it and he reconsidered and took it out

Overview

The X3 attempted to explain the reason why the X171 n2w2a 9°3 213 is 217 for the
72°13, and we do not say nIRXT 7MY 77257, is because the first 7777237 was not for the
purpose of XX, but rather 13°187%. Therefore the 712°13 21°1 began first (by the initial
71237), while the n2w 2111 began later when he decided to take it out. n1vOIN clarifies
the s'&713 explanation.

n1voIN asks:
= ZANNIN TAN 2NNT NNOWN NINYT XPHDT 11291 99NN ON)

And if you will say; but since the X2 now assumes that he will be liable for

such a 7RXY7T (even though he picked it up 13712777 and not W*X17%) -
- 300 INYYD TNYT PNNTY NOWYD NYTH 19 DN

Therefore the initial question (goes back to its place) remains that the initial
77°PY is necessary for the IRXYT —

N190IN answers:
11193Y NPY NN NN TNIT XD PHYT RPYDT 9 Y

And one can say that the X3 assumed that this act where he reconsidered and

took it out, is considered a second 1277, and therefore the 72713 21’1 came before the 21n
naw. The initial 77237 was not RXT X,

Summary
The act of 7911 can be considered as a second 77py.

Thinking it over
If we assume now that the 7711 is an 1w 771°pY, so what is the w17 of this 172!*

! In our X3 the text reads XXM 12y 7221 (not WXIT? T70).

2 We must be discussing a case where there is a 211 for XX, since the Xn™12 states 72°p0 MOX 7% R2°W aTp.

3 The case is where he did not rest between the original 7Py (which was ¥°3%77%) and the ultimate Ax¥7 (for if he made
an actual 1137, it is obvious that he is 217 for the 712°33, since the 777237 for the 712°1) ended when he made the 1m17, and
is not connected at all to the x¥17 MOX [see “Thinking it over’]). Therefore looking back we can argue that the only
way he is 21 for X7 is because of the initial 77237/77°pY, we should therefore say that ax¥IT 77% 77237 and he
should be 5.

4 See footnote # 3 (in the parenthesis).
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